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FOREWORD

The Students Items Response Analysis Report (SIRA) in Commerce subject is
basically prepared for the aim of providing feedback to all education stakeholders
about the students’ responses to the questions assessed by the end of second year
of Ordinary Level of Secondary Education.

The general performance of the students in the Commerce subject was average.
The students’ responses analysis report shows the factors for students to score high
marks, average marks and low marks in the questions. The factors for the students
to score high marks include: competency of the topics assessed, proper
identification of what to do in the questions and English language proficiency.
Further the report indicates the reasons for students to score average and low marks
which include: inability to identify the demands of the questions, incompetency of
subject matter of the assessed concepts, poor command of English language and
poor essay writing skills.

The National Examinations Council of Tanzania (NECTA) hopes that, the
analysis, suggestions and recommendations given in this report will enable
different education stakeholders to take initiatives to improve the students’
performance in the future.

The Council appreciates the contributions from all examination officers, examiners
and all who participated in the preparation of this report.

A

Dr. Charles E. Msonde
EXECUTIVE SECRETARY



1.0

INTRODUCTION

This report presents the analysis of students’ performance in Commerce
subject for the Form Two National Assessment (FTNA) which was
conducted in November, 2021. The Commerce Assessment was set in
accordance with the revised Commerce subject syllabus of 2016 and the
subject Assessment format of 2019. The assessments intended to measure
the students’ competences achieved in the two ordinary early level
academic years.

The paper consisted of seven (7) questions divided into three sections: A, B
and C. Section A comprised of three (3) objective questions carried 30
marks. Section B consisted of two (2) short answer questions which carried
15 marks each, and section C consisted of two (2) essay questions which
carried 20 marks each. The report shows what students were supposed to do
in every question, the strengths and weaknesses in their responses which
are supported by charts, graphs, tables and extracts.

A total number of students who sat for Commerce Form Two National
Assessment (FTNA) in 2021 was 77,243 however, the result of 106
students withheld due to different reasons. A total of 35,786 (46.39%)
students passed with grades A, B, C and D while 41,351 (53.61%) students
failed by obtaining grade F. The overall students’ performance in 2021 is
decreased by 7.78 percent as compared to 2020. In 2020, a total of 78,859
students sat for the Assessment of which 42,715 (54.17%) students passed
and 36,144 students (45.83%) failed. The results is summarised in Table 1.

Year | Grades A B C D F

2020 | Number of | 3,866 | 4,659 | 16,140 | 18,050 | 36,114
students 49% | 5.91% | 20.46% | 22.89% | 45.79%

2021 | Number of | 193 1,131 | 11,172 | 23,290 | 41,351
students 0.25% | 1.46% | 14.46% | 30.15% | 53.53%

Table 1: Students’ performance in Commerce FTNA 2020 and 2021

The students’ performance per question and performance per topic has been
categorised as good, average and weak. The performance ranges from 65 to
100 per cent is categorised as good, 30 to 64 per cent average and from 0 to
29 per cent weak. Green, yellow and red colours were used in
categorisation of the performance whereby green present good, yellow
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average and red weak performance. The students’ performance in each
topic is summarised at the end of the report. See Appendix 1.

ANALYSIS OF THE STUDENTS’ PERFORMANCE IN EACH
QUESTION

Question 1: Multiple Choice Items

The question consisted of ten (10) multiple choice items carried 1 mark
each, making a total of 10 marks. The items were composed from seven
topics which are Warehousing Management, Economics Basis, Production,
Domestic trade, Entrepreneurship, Commerce Basics and Transportation.

The question was attempted by 77,243 (100%) candidates. The data
analysis shows that 14,920 (19.3 %) students scored from 0 to 2 marks,
54,945 (71.1%) students scored from 3 to 6 marks and 7,378 (9.6%)
students scored from 7 to 10 marks. The students’ scores in this question is
summarised in Figure 1.

100 -
90 -
80 - 71.1
70 -
60 -
50 -
40 -
30 4 19.3
20 - 9.6

10 -

0 - - , , Ea

00-20 30-6.0 7.0-10.0
Scores

Percentage of Students

Figure 1: Percentages of Students’ Performance in Question 1

Figure 1 shows that, the students’ performance in this question was good,
because the majority (80.7%) of the students performed average and above.
These students managed to choose the correct responses in most of the
items. Despite the good performance in this question, the analysis shows
that, 913 (1.2%) students scored zero as they chose an incorrect responses
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from all items. The following is the analysis of students’ response in each
item (i) — (X).

In item (i), students were re to identify the type of warehouses used by both
manufacturers and wholesalers to store their goods. The alternatives given
were:

A Bonded warehouses B  Private warehouses

C Public warehouses D Customers warehouses

This item was set to test students’ understanding on the types of
warehouses. The correct response was B: Private warehouses. The students
who chose the correct response were aware that, private warehouses can be
owned and used by manufacturers, wholesalers, retailers, agents or farmers
to store their goods while waiting for customers or for further production.
The warehouses of this nature are built for the owners’ use and not for rent
but also not owned by the government. The students who opted for the
alternative A: Bonded warehouses were wrong because bonded warehouses
specially are built to store dutiable goods and managed by government
officials through customs and exercise department. Further, the students
who chose incorrect response C: Public warehouses were attracted by the
word public used in alternative. These students incorrectly linked the option
with the word both manufacturers and wholesalers to generalise that, the
combination of manufacturers and wholesalers forms public hence opted
for C. Other students chose D Customers warehouses failed to realise that,
Customers warehouses are owned by individuals to keep their own goods
or properties and not for rent.

Item (ii) stated as: What does the area below the point where demand and
supply curves intersects present?

A Excess price B Excess supply

C Excess demand D Excess market

The question aimed to test students’ ability to interpret the intersection of
the demand and supply curves and the effect on demand and supply above
and below equilibrium point. The students who understood what happened
to the market when the goods are sold below the equilibrium price were
able to choose the correct response which was C: Excess demand. It is
because at any area below the demand and supply curves intersection
implies that, the price of the commodity shift down wards from the original
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price discourages suppliers to supply the goods in the market hence excess
demand. The opposite of excess demand is B: Excess supply, which shows
that, the goods are supplied at the price above equilibrium point. This
implies that, when the price of the commaodity increases, it encourages the
suppliers to supply more in the market but as the price increases, the
purchasing power decreases hence more goods in the market with less
buyers resulted into excess supply. Therefore, the students who opted for B:
Excess supply failed to interpret the effect of supply of goods above the
equilibrium which means the excess supply. Those who opted for A: Excess
price failed to understand that, excess price occurs when there is shortage
of supply or increases in demand for a particular product (s) in the market.
This is because, the shortage of supply or increase of demand for a
particular product forces the price to increase until the supply increases. On
the other hand, the students who opted for D excess market were not aware
that, excess market occurs when quantity of goods or services supplied at
price above equilibrium price is more than the quantity demanded. In other
word, excess market is similar to excess supply.

Item (iii), was: Which one is categorised as capital goods?
A A crane to lift heavy goods in the bonded warehouse.
B Arefrigerator bought for preserving food at home.

C  Acar bought to satisfy family needs.

D  Atractor bought for personal use.

It tested students’ ability in understanding examples of goods used in
production as compared to consumer goods. The correct response was A, A
crane to lift heavy goods in the bonded warehouse. Most of the students
opted for the correct response as they understood the meaning of capital
goods and identified capital good from consumer goods. The other
alternatives were consumer goods. They also understood that all four
mentioned items can be termed as capital or consumer goods depending on
the nature of their use. If the goods are used for production purposes they
are categorised as capital goods but once used for individual use, they are
categorised as consumer goods. For example, B: A refrigerator bought for
preserving food at home is used by individuals to satisfy their personal
need because the food preserved is for home use not for the business. The
same to apply to options C: A car bought to satisfy family needs and D: A
tractor bought for personal use. The students who opted for the incorrect
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responses confuse the use of a refrigerator, a car and a tractor for personal
use and when the same items are used for business purpose. However, most
of them opted for D: A tractor bought for personal use. Those students had
an idea of capital goods as they related the use of hired tractor for
cultivating farms for crops and paid which is completely wrong.

In item (iv), students were required to identify an example of large scale
retailing business from the given alternatives.

A Mobile shops B  Tied shops

C Multiple shops D  Single shops.

The item intended to test students’ ability to identify types of retailers
according to their scales by examples. They were supposed to know the
main factors to consider when differentiating large scale retailing business
from small scale retailing business. The factors include the amount of
capital invested, the nature of goods offered and the services the shops
provided to customers. The correct response was C: Multiple shops. The
shops are classified as large scale retailing business because they need large
amount of initial capital to facilitate centralised buying and distribution of
goods to the branches. Other options A, B, and D are the examples of small
scale retailing business so they were incorrect. For example, most of the
students with incorrect responses chose A: Mobile shops as they failed to
realise that, mobile shop need less amount of capital to establish as
compared to multiple shops. Owners of these shops use vans to transport
their goods to different market places to find the customers.

Item (v) stated as: The following are the functions performed by an
entrepreneur except:

A raising finance for project B planning for the project

C managing the project D competing with similar projects

The correct response was D: competing with similar projects. The analysis
of the students’ responses indicated that, the students who chose D, had
sufficient knowledge on the functions of entrepreneur. They understood
that in planning function an entrepreneur has to foresee about the
competitors and how to compete with them in the market. Therefore, the
element of competition is assessed in planning function. However, the
students who opted for incorrect responses A: raising finance for project,
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B: planning for the project, and C: managing the project failed to
understand that, an entrepreneur as an initiator of the business project is the
one to provide capital for the establishment of the project. An entrepreneur
can raise fund for capital using different methods like borrowing from
friends, family members, financial institutions or saving from personal
sources. Likewise option B is considered as a function of an entrepreneur
because, before establishing the project it is necessary to think of what to
do, when, where, how to do and at what cost the project will initiated and
operated thereafter. The students, who chose C, were incorrect because it is
the task of an entrepreneur to manager to control the project by using the
internal and external mechanism to make sure that whatever planed is
implemented.

Item (vi) stated that,

A retailer bought 2,000 kilogram of rice at Tsh. 2,000 @ from a wholesaler
at a discount of 15% for bulk buying. The discount given to a retailer is
referred to as:

A cash discount B trade discount

C discount allowed D discount received

The item tested the students’ ability to distinguish the two main types of
discounts used in trade. The correct response was B: trade discount. The
students who chose the correct response were aware that wholesaler
provide discount to the retailers who buy in bulk. The discount offered for
bulk buying is called trade discount/quantity discount. The students who
opted for other options lacked knowledge on the types of discounts. For
example those students who opted for A cash discount did not understand
that a cash discount is provided by the seller to the buyer to encourage them
to pay their debts immediately. For example, a customer buying on credit
goods worth Tsh. 100,000/= on 1/1/2022, the seller can encourage the
buyer to pay for the debt by providing a discount of 5% if paid before
15/1/2022. The cash discount is divided into discount allowed and discount
received. Therefore, the students who opted for incorrect response C or D
failed to understand that, the two options are parts of cash discount.



Item (vii) was: How trade can be identified from other business activities?

It involves exchange and distribution of goods and services.
It involves buying of goods and services.

It involves selling of goods and services.

It involves buying and selling of goods and services.

0O wm>»

The correct response was D: It involves buying and selling of goods and
services. The students who opted for other options A, B and C had
inadequate knowledge of concept of commerce. Trade does not involve the
distribution of goods or services it only involves exchange of goods and
services. The students who opted for the distractor A: the exchange and
distribution of goods and services failed to understand that once the word
distribution is added to the meaning of trade, it changes into commerce.
Some students who chose B and C failed to realise that, the two options are
the activities that forms trade and they cannot stand alone to mean trade.

Item (viii), intended to test students understanding on different documents
used in transport. It states: The document which evidences the contract of
carriage between the shipper and the ship owner is known as:

A dock warrant B freight note

C charter party D bill of lading

The correct response was D: bill of lading. The students who chose the
correct response had knowledge on the documents used in water transport.
It is the contract of carriage between the shipper and the owner of ship. It is
prepared by the shipping company to provide the details of the ship and the
items shipped. Majority of the students opted for the correct response.
However, some students opted for incorrect response A: dock warrant as
they did not know that, this is used as evidence that the goods
exported/imported has been received in the dock warehouse. Moreover,
other students chose B: freight note, these were wrong also as they failed to
understand the meaning of the freight note. Freight note is not a document
of carriage but it is a bill for transport services which shows the transport
charges due on the shipment of goods. Likewise, some students opted for
C: charter party, these were not aware that, this is the document prepared
to show the agreement between the shipping company and the sender of the
goods to carry the goods to the port of destination.
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In item (ix), the students were required to identify the activity which is
classified as labour in production.

A Awoman cooking food for her kids.

B Afarther repairing a bicycle for his kids.

C  Ateacher teaching kids at Mwenge Primary School

D  Ateacher teaching his kids at home every evening.

The correct response was C: A teacher teaching kids at Mwenge Primary
School. It is correct because the teacher is paid wage/salary for the service
rendered in the production process. The students were supposed to realise
that, any activity which use human mental and physical efforts and the
person paid for in production is termed as labour. The students who opted
for incorrect responses A: A woman cooking food for her kids, B: A farther
repairing a bicycle for his kids or D: A teacher teaching his kids at home
every evening failed to consider the point that a labour must be paid. In the
incorrect options the activities done should not be paid. The key point for
this item was to let the students know that any activity performed by a
person in production will be considered for as labour if it is paid for
otherwise it cannot be termed as labour.

Item (X) required the students to show their understanding on the benefit of
self-employment to an entrepreneur. The item was stated as:

Why job security is considered as a benefit to self-employment to an
entrepreneur?

A ltdescribes a person’s social rank or position in the community

B It can force an entrepreneur to retire at a certain age

C It cannot force an entrepreneur to retire at a certain age

D Itensures an entrepreneur to earn profits from the business.

The correct response was C: It cannot force an entrepreneur to retire at a
certain age. This was the correct response because in self-employment an
entrepreneur has job security in the sense that, the chance of being fired or
asked to retire from work by the boss does not exist because he/she is the
boss by him/herself. Options A: It describes a person’s social rank or
position in the community failed to recall that, rank goes with the benefit
named status. In alternative D: It ensures an entrepreneur to earn profits
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from the business, the explanation is for the advantage of profit and income
which enable the entrepreneur to control business income and the profit so
as to get the reward of profit as an entrepreneur. It encourages an
entrepreneur to work hard so as to earn more profit. The question about the
benefit of job security also required students to be specific to the demand of
the question.

Question 2: Domestic Trade

The question was composed from the Domestic Trade topic and had five (i)
— (v) items. The students were required to match the descriptions of the
types of retail business in List A with the type of retail out lets in List B by
writing the letter of the correct responses below the corresponding item
number in the table provided.

List A List B
(i) The shops selling products from a particular | A Chain store
manufacturer. B Supermarket
(i) The shop selling their goods through post | ¢ Mobile shops
office. D Tied shops
(iii) The _shop selllpg varle_ty of goods and E Department stores
provide self-service to their customers. )
F Mail order shops
(iv) The shops operating under single roof and .
G Multiple shops

one management each selling particular line
of goods.

(v) The shops selling the same class of
merchandise but situated in different
locations.

A total of 77243 students corresponding to 100 per cent attempted this
question. The data analysis shows that 34,278 (44.4%) students scored from
0 to 1 mark, 23,438 (30.3%) scored from 2 to 3 marks and 19,527 (25.3%)
scored from 4 to 5 marks. Technically, the question intended to assess the
students’ understanding on the features of some of the retail business. The
performance of the students in this question is summarised in figure 2.



Scores

m0.0-1.0
2.0-3.0
m40-5.0

Figure 2: Percentages of Students’ Performance in Question 2

Figure 2 show that, the general performance of this question was average as
55.6 percent of the students scored from average and above marks. These
students had knowledge on the types of retail trade however, some of them
could not answer all the items correctly. The analysis of students’ response
in each item is as follows:

Item (i); the students were required to identify the feature of retail shops
selling products from a particular manufacturer. The correct response was
D: Tied shops. The students who chose the correct response understood the
main feature which distinguishes tied shops from other retail shops. Some
students chose incorrect response G Multiple shops failed to understand
that, in multiple shops the goods sold are from different manufacturers but
they should be of the same class. Furthermore, a few students opted for B:
Supermarket, were guessing because features of supermarket and tied shops
are different especially in terms of the items sold.

Item (ii) required the students to identify the shops selling their goods

through the post office. The correct response was F: Mail order shops.

Most of the students understood that, the customers can place an order to

buy goods from the supplier through telephone, email, post or fax and the

goods delivered through post office. Conversely, some students incorrectly
10



opted for C: Mobile shops. These students were attracted by the word
mobile from the responses and linked it with the ways used in ordering the
goods the mail order business hence opt for incorrect response. Some
students who opted for E: Department stores failed to understand that
department stores have fixed premises and customers can buy direct from
the shops.

Item (iii), the students required to match the shops selling a wide variety of
goods and provide self-service to their customers with the appropriate
response from List B. The correct response was B: Supermarket. The item
was correctly answered by the majority of the students. These students
were aware that, in supermarket, the customers are free to choose and pick
the goods from the shelves according to their demand without being served
by the shopkeeper and pay at the counter. Few students who provided
incorrect response matched it with E: Department stores. They had
misinterpreted the meaning of department store in a sense that, in
department stores different shops are located in the same place under one
roof it is easily for customers to buy the goods by selecting the one of their
choice from different shops but failed to realise that, buying goods from
different shops does not imply self-service. Others who matched it with G:
Multiple shops related the words “variety of goods” with multiple from the
responses due to lack of knowledge on the types of retail trade.

Item (iv), required the students to identify the shops operating under single
roof and one management but each shop selling particular line of products.
The correct response was E: Departmental stores. The students who
matched the item with incorrect response failed to distinguish the features
of departmental stores with that of other shops in retail trade. Most of the
students matched the item with incorrect response D: Tied shops. The
students who incorrectly responded to the item had inadequate knowledge
of departmental stores hence chose response A or G (multiple shops/chain
stores) which also are under one management like departmental stores.
These students failed to understand the meaning of the concept, operating
under single roof as it is concerned in departmental stores while multiple
shops operate in different location.

Item (v), students were required to identify the shops selling the same class
of merchandise but situated in different locations. The correct response was
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G Multiple shops or A Chain stores. The response A Chain stores, is the
other name for multiple shops. The students who matched it with the
correct response knew that multiple shops are located in different places
though the products sold in each shop are similar. They also understood
that, the number of items sold in those shops is limited as compared to the
supermarket and department stores. The students who matched the item
with incorrect responses D: Tied shops or E: Department stores had
inadequate knowledge. They incorrectly interpreted the words different
locations in multiple shops/chain stores with different shops from
department stores.

Question 3: True or False and Filling in the Blanks Items

The question was composed from form the 7 topics namely: Production,
Entrepreneurship, Warehousing Management, Economics  Basis,
Transportation, Domestic trade, and Commerce Basics as stipulated in
form one and two syllabi. It consisted of (10) True or False items in part
(a) and five (5) completion items in part (b), making a total of fifteen (15)
items carrying 1 mark each.

The question was attempted by 77,243 (100%) students out of which
25,626 (33.2%) students scored from 0 to 4 marks, 44,997 (58.2%) students
scored from 4.5 to 9.5 marks and 6,620 (8.6%) scored from 10 to 15 marks.
The students’ performance in the question is summarised in Figure 3.

100 -
90 -
80 -
70 -
60 -
50 -
40 -
30 -
20 -
10 -
0_

58.2

Percentage of Students

8.6

| I

0.0-4.0 45-95 10.0-15.0
Scores

Figure 3: Percentages of the Students’ Performance in Question 3
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Figure 3 indicates that, the students’ performance in this question was good
because 51,617 (66.9%) of the students who attempted the question
performed average and above. This performance is analysed in each item as
follows:

In part (a) the students were required to write True if the statement given
was correct or False, if the statement was not correct in the space provided.

In item (i), the statement was; Extraction of minerals from the earth is
categorised under the secondary stage of production. The correct response
was False. The students who responded to the item correctly were aware of
the stages of production and understood the activities done in each stage of
production. The statement for example, presents primary production which
deals with extraction of raw materials from natural resources (land). Some
students who wrote True, failed to understand the meaning of secondary
stage of production because at that stage, the products from primary stage
are transformed into finished goods in manufacturing and constructive
industry.

In item (ii), the statement was: large amount of initial capital is an internal
motivation to an entrepreneur. The statement intended to assess students’
ability to distinguish internal from external motivation factors to an
entrepreneur. The correct response was False because capital does not
come from within the entrepreneur. It is extrinsic motivation that comes
from outside the entrepreneur. The students who wrote True lacked
knowledge of entrepreneur motivation particularly the internal motivation.
Internal motivation includes factor like the deed to be recognised by others,
succession in business, desire to do something new in the business.
Therefore, large amount of initial capital is considered external motivation
because it can encourage the entrepreneur to work hard to get the expected
returns.

Item (iv) stated that: quantity demanded is inversely proportional to change
in price. The correct response was True. The students who understood the
theory of demand opted for the correct response. They knew that, in this
theory when price increases, the quantity demanded decreases and vice
versa. The students who provided incorrect response False had inadequate
knowledge of the theory of demand and also failed to interpret the words
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inversely proportional. They were supposed to realise that, quantity
demanded and price is in different direction as stated by the theory of
demand. Some students also failed to differentiate the theory of demand
from the theory of supply therefore, applied the theory of supply in which
the quantity supplied is proportional to price of a commodity.

Item (v) stated that: In deferred payment, the product becomes the property
of the buyer after final instalment being paid. The response was False
because once the first instalment is paid the possession of the property
moves from the seller to the buyer and the seller has no right to repossess it.
The students who wrote True confused the term hire purchase with deferred
payment. These students failed to realise that, it is in hire purchase where
the seller will remain the owner of the property until the last instalment is
paid.

Item (vi) was: the diversification of natural resources influences the growth
of commerce. The correct response was True. The item required the
students to recall the nature and the growth of commerce. The students who
wrote True were aware that, commerce involves exchange and distribution
of goods and services. However, exchange occurs when people from one
area produce something which cannot be produced in other places due to
diversification of natural resources. Therefore, exchange facilitates the
growth of commerce. Those who wrote False failed to understand that, if
all natural resources are not diversified the chance of commerce to grow
will be minimal and difficult to exchange goods and services over a long
time.

Item (vii) stated that: consignment note is a document used in transporting
goods which shows the freight charges for the goods to be transported. The
correct response was False. The students who provided the correct answer
showed their understanding of different documents used in transportation of
the goods. They were aware that, consignment note is used as a receipt for
the goods shipped but freight charges are shown on the freight note.
Conversely, the students who wrote True did not know the use of the
consignment note.

Item (viii) states that: All wants of human being cannot satisfy due to
scarcity of resources. The correct response was True. The students who
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wrote correct response were aware that wants are many but the resources
are limited, so it is difficult to satisfy all human wants. This indicated that,
wants can only be satisfied based on the priority and the availability of
resources. Some students who wrote False did not know meaning of wants
in relation to available resources. In order to answer the item correctly, they
were supposed to know that, human wants exceed the resources because
always resources are scarce.

Item (ix) stated that: Care of stocks involves receiving and recording of
goods from suppliers. The item was set to assess students understanding on
the functions of stock administration. The correct response was False
because care of stock function involves sorting of spoilt items from stock,
dusting and arranging of goods in stock but not receiving and recording of
goods. The students who wrote True had insufficient knowledge of the
functions of stock administration. They failed to understand that, receiving
and recording of goods from suppliers is done under the receiving function
and not on stock care.

Item (X) stated that: Barter trade simplifies trade because people can easily
get what they want. The correct response was False. The students who
wrote False were familiar with the limitations of barter trade of which, the
double coincidence of wants is among them. Double coincidence of wants
occurs when the two people who are in barter trade each hold an item the
other wants. This proves the statement wrong. On contrary, the students
who wrote True were not aware of the meaning of double coincidence of
wants. They also failed to remember that, double coincidence of wants is
among the reasons of the introduction of money to reduce difficulties in
exchanges.

In part (b) students were required to complete the sentences by writing the
correct answer in the space provided. The analyses of the sentences were
as:

Item (i) required the students to identify the element of transport, which
facilitates the units of carriage to work. The correct response was the
methods of propulsion/unit of power. The students who wrote correct
answer understood well the elements of transport as they knew that, the unit
of carriage cannot move without driving force such as diesel, electrical
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power, power from coals, petroleum or solar. Some students wrote
terminals while others wrote units of carriage. The students who wrote
terminals were not aware that terminal is the point where loading and
offloading of people and goods take place. Those who wrote the units of
carriage or gave examples of the units of carriage like bus, train or ships
deviated from the requirement of the item. Further analysis shows that,
some students wrote about the modes of transport such as water transport
and railway transport while the item was about elements of transport.

In item (ii), students were require to give the name of the new demand
curve drawn as a result of change in other factors while price held constant.
The correct response was change/shift in demand. The item aimed to assess
students understanding on the meaning of change in demand and their
ability to differentiate change in demand from change in quantity
demanded. The students were supposed to realise that, in change in demand
a new curve must be formed while in change in quantity demanded changes
occurred along the same demand curve due to change in price of a
particular product. Most of the students failed to differentiate the factors for
change in demand from that of change in quantity demanded. Example on
this include: change in fashion, change in price and change in weather.

In item (iii), students were required to identify the name given to an
investigation made by an entrepreneur to assess the acceptability of his
products in the market. The correct response was market research/survey.
The students who responded to the item correctly understood the meaning
of market search and linked it with the requirement of the question. Market
research provides feedback to the entrepreneur which can enable him/her
offer relevant products in the market. The following are some of the
incorrect responses noticed during the analysis: advertising, insurance,
entrepreneurship, market, demand and feedback. These responses portray
students’ inadequate knowledge and misunderstanding of the demands of
the question. Some of their responses like advertising, transportation and
insurance which are the aids to trade but do not support an entrepreneur to
know the accessibility of his/her product in the market.

Item (iv) required students to provide the correct name for the exchange of
goods and services between a seller in Tanzania and buyers in South Sudan.
The correct response is international trade/export trade. The students were
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supposed to know that if trade is done across the countries it is termed as
international trade/foreign trade which is divided into import and export.
The candidates who wrote trade were incorrect because the question
involved two countries and trade is a general term. Some students wrote
wholesale trade, retail trade and home trade. These students were incorrect
because wholesale trade and retail trade are the branches of home trade.

Item (v) required the students to identify the reward that fits for machine
used in production process. The correct response was interest. The item
aimed to assess students understanding on the rewards of the factors of
production. The students who supplied the correct response identified that
machine is an example of capital factors of production whose reward is
interest. Some students wrote labour because they thought about the one to
operate the machine used in production instead of the reward for capital.
Similarly, some students wrote other factors of production such as land,
capital, and entrepreneurship instead of the reward for capital factor of
production. Others wrote wages or salary, which is the reward for labor
and not for machine. Furthermore, the analysis shows that, some copied
some word(s) from the alternatives given in question 1 as a solution. All
incorrect responses implied inadequate knowledge on the factors of
production. Extracts 3:1 and 3:2 illustrate samples of good and poor
responses respectively.
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3. (a)

(b)

For each of the statements (i) — (x), write True if the statement is correct or False if
the statement is not correct in the space provided.

(i)  Extraction of minerals from the earth is categorised under the secondary stage
of production. ......... ...

(ii) Largc amounl of initial capital is an internal motivation to an entrepreneur.

L Hlge

(iii} A retailer can determine his business turnover by using gross profit margin.

...... L0ke.........

(iv) Quan%tﬁ demanded is inversely proportional to change in price.
e

(v) In deferred payment, the product becomes the property of the buyer after final

(vi) The diversification of natural resources influences the growth of commerce.

1Y

(vii) Consignment note is a document used in transporting oods which shows the
freight charges for the goods to be transported. ....... FOES: ...

(viii) All wants of the human being cannot be satisfied due to scarcity of resources.

Ue:.......

(ix) Care of stocks involves receiving and recording of goods from suppliers.

..... (lge.

(x) Barter tr'ade simplifies trade because people can easily get what they want.

Complete the following sentences by writing the correct answer in the space provided.

(i) The element of trgnsport which fac:htates the unit of carriage to work is called
........... meihod.. of. parpuleron.. .

(i)  The new demand curve drawn asa rcsu]t of chan gf: in other factors while price
held constant reflects ... 10008../0...de@nd. .. ...

(i) The investigation made by an entrepreneur to asseqs the acceptability of his
products in the market is known as ......MAKOT  L00rch ...

(iv)  The exchange of goods and services between a seller i I(IJ Tanzania and buyers
in South Sudan is referred to as ........... E.O.(E..G.ﬂ..If.a..E..CW..Q.WQUO”QU

) reward vlfor machine used in production is called

Extract 3.1: A sample of a correct responses in question 3
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. (@) For each of the statements (i) — (x), write True if the statement is correct or False if
the statement is not correct in the space provided.

(M

(i)

(iii)

(iv)

v

(vi)

(vii)

(vii)

(ix)

(x)

Extraction of minerals from the earth is categorised under the secondary stage
of production. ....[.DAY........ooneen.

Large amount of initial capital is an internal motivation to an entrepreneur.

A retailer can determine his business turnover by using gross profit margin.

Qua$tiotb\'/ demanded is inversely proportional to change in price.
.......... SR

In deferred payment, the product becomes the property of the buyer after final
instalment being paid. .... ! AR

The diversification of natural resources influences the growth of commerce.
........ Feedse......

Consignment note is a document used in transporting goods which shows the
freight charges for the goods to be transported. ...... Lol

All v‘vfagjs of the human being cannot be satisfied due to scarcity of resources.
.......... TR

Care of stocks involves receiving and recording of goods from suppliers.

Barter_trade simplifies trade because people can easily get what they want.
....... E 620 U

(b)  Complete the following sentences by writing the correct answer in the space provided.

i}

(iD)

(iii)

(iv)

(v}

)

The element of transport which facilitates the unit of carriage to work is called
wMpid 4. camage.

The new demand curve drawn as a result of change in other factors while price
held constant reflects ..... Deman.d....cchedle....

The investigation made by an entrepreneur to assess the acceptability of his
products in the market is known as ... 20V, pee.0. Uy WAt

The exchange of goods and services between a seller.in Tanzania and buyers
in South Sudan is referred to as ... )R sad

The reward for the machine wused in production is called
........ l.akours....

[

The reward for the machine wused in production is called
........ Labours....

Extract 3.2: A sample of an incorrect responses in question 3
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2.4

Question 4: Descriptions of Commercial Terms

In this question the students were required to provide brief explanations on
the following commercial terms: (i) Custom duties (ii) Proforma invoice,
(iii) Supply schedule, (iv) Middlemen and (v) Entrepreneurship.

The question was attempted by 77,243 (100%) students. The data analysis
shows that, 64,274 (83.2%) students scored from O to 4 marks, of which
32,858 (42.5%) students scored zero mark. Further analysis shows that,
11,414 (14.8%) students scored from 4.5 to 9.5 marks while 1,555 (2.0%)
students scored from 10 to 15 marks. General performance in this question
was weak since only 12,969 (16.8%) students scored from average and
above. The students’ performance in this question is summarised in Figure

4.
10.0-15.0 —i 2

45-95 14.8

Scores

0 20 40 60 80 100
Percentage of Students

Figure 4: Percentages of Students’ Performance in Question 4

Figure 4 shows that, majority (83.2%) of the students in this question had
weak performance as they scored below average marks. Their performance
was less than an average of 30 percent of the allocated marks.

A total of 64,274 (83.2%) students who scored 0 to 4 marks provided
incorrect explanations in almost all the items. The analysis shows that the
students were incompetent in the assessed terms. Majority of them scored
zero mark as they provided irrelevant explanations to the items due to

20



inadequate knowledge hence copied some words from other question. Also
misconception of the concepts was also noted as the problem facing these
students. Some of them attempted only 1 out of 5 given items while others
attempted all the items with incorrect responses. For example, instead of
explaining the term custom duties as the duties charged to importers and
exporters by custom authorities on both imports and exports basing on the
terms and conditions of tax authority some students misinterpreted the term
custom duties differently. Many of them interpreted the word duties as task
or responsibility a person has to perform. Therefore, among them
responded to the item as the responsibility of customers when buying
goods, other students in this category wrote custom duties as a person who
is responsible in transporting the goods to the customs.

Item (ii) was Proforma invoice, some students’ responses reflected the
meaning of invoice, receipts, and debit note, which was incorrect. They
failed to understand that proforma invoice is a document sent by the seller
to the buyer stating the items and conditions under which goods will be
supplied. It is similar to normal invoice but it cannot bill the customer.
Therefore, those who explained it as invoice were wrong because it cannot
bill a person as no goods or services is sold on credit. Similarly, as those
who offered the definition of receipt were wrong because no cash
transactions take place on issuing of proforma invoice, definition of receipt
was invalid response.

In item (iii), supply schedule, some students copied the sentences which
relate to demand or supply as a response. Some students’ responses were
about demand curve, the theory of demand, supply curve, and shift in
supply. However, a few students were able to explain the term correctly as
the table show the relationship between the quantities supplied with the
price of a given commodity at a particular period.

The items (iv) middlemen and (v) entrepreneurship were partially answered
by a few students. Majority of the students responded incorrectly to item
(iv) middlemen by mentioning retailer and wholesaler which are the
examples of middlemen instead of providing brief explanation on the term.
Some students explained the functions performed by middlemen instead of
explanations of middlemen. The examples of incorrect responses given
include: buying in large quantity and selling in small quantities, selling of
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goods to final buyer, keep the goods in the warehouse. In item (v), some
students failed to score marks because they listed the qualities of an
entrepreneur. Others mentioned land, labour and capital as other factors of
production instead of providing brief explanation an entrepreneurship as the
process of generating viable business ideas, evaluating and establishing
business ventures that offer products or services to consumers.
Furthermore, the analysis shows that, lack of English language proficiency
was other reason for students’ low scores. Extract 4.1 illustrate the sample
of incorrect responses in question 4.

4. Briefly explain the following terminologies:
(i) Custom duties

Sochem.. ddiec. Meceace. Mo Made o SeMiong grves..
2.0 chtq‘c Pm@ke o.,c‘c.orx\ \D &\‘@\ CV\\:: m\é

Y U

(ii) Proforma invoice

Qw(mmq“umce&“«ec\pameﬂ*\Lsuac\‘mms'*omer
+Q....C.‘.L....S:.-.‘:s.m.\.i..‘!.t..éﬂ..ggL\..%.t....QQ&\?..QHET.C\KS\\&%L ...............................

(iii)  Supply schedule

..Q&ag.:s....gg‘c\e;\v\e \e. Moo, xopreseciabon. o a.dala. . Shenn
e ablar M@“‘pc\ Ao St ?wua s Me Suan
\ wwk gu PP\ QA A .\\se?nce

(iv) Middlemen
A A\emch—*&uﬁmqé«\ksmm‘k\rnoLclf&knxﬂmz\
LL\Q*prohmrqnc&@-e\\gmémqm\.gm weon te Mue
BT W S S

Extract 4.1: A sample of student’s incorrect response to question 4

A total of 11,414 (14.8%) students who scored from 4.5 to 9.5 marks

provided a few correct explanations to some of the assessed concepts. Most

of these students attempted item (iii), (iv) and (v) and were able to score at

least 2 marks in each item. Some students explained the meaning of custom

duties in item (i) but their explanations missed the important key words like

tax on both imports and exports. For example, one of the students wrote it
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as the taxes on goods which to be to the government income by the buyer
who buys from other countries through TRA. The student had an idea but
failed to organise them due to poor English language. Few students in this
category attempted item (ii) profoma invoice with unsatisfactory
explanations as partly answered as an invoice. These are among the factors
contributing to average scores.

Despite weak performance in this question, the analysis shows only 1,555
(2%) students scored high marks. The students in this category had
sufficient knowledge of most of the assessed terms. Some of them were
able to provide brief explanations to at least 3 items and above. Extract 4.2
is a sample of a correct response to question 4.

4. Briefly explain the following terminologies:
i) Custom duties

- Custern_dubies are dhe dharges oy Cbﬁbfcﬁﬂ‘cmc\\rwcf*ﬂ\
Lsyeds Xea counings | ped usnally. based) by e Nelue
ewd rondot ot the g {S ......... ayavemia by B ongecter

(ii) Proforma invoice

-Refrgrma  wwolee @ o g\m“ﬁq% \_\su-,\ w c}m—rma\t Hrede

L

Aermsaed o cemdifens. ob Ahe drade F Abe buer

e

u)cn\A aeeaty e ”\mc\e_, s sx\u:;-,& ‘“‘L J[‘“Q \i“N\Di(.{'.. L(iLﬂe\J. L\kc

(ii1) Supply schedule

FE\L\P@:Q u}(&ﬁtfu\tk\b 1S 'Y‘h:, ')\'r.\\‘)& S\*ﬂdhc} '“'m: c}uctri\‘mQ

ohgreds | sopplied Lﬂ*mar\‘éfﬂm\"ht‘r@““ corling

(iv) Midd

3 € %ina\ COPAXOLES i) '*\“«'; ___Q\YJTF\ Qg

...............................................

...............

(v) I_Ell_ltrepreneurship
Fovepreoeuchip. 1o e precsss e totbdbing dbe
Hhe busioess

Dsoesstidea, seprzing. t.and . onenacion.dhe business

e\ m((j ....... \ u,fn'\ a5t JTES Haks L.:_TH\

...xi?m...i.og...sx..ﬁyir%gf-%rmgk of emeprses e e 1PP conapaniss

Extract 4.2: A sample of a correct responses in question 4
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2.5

Question 5: Production

In this question the students were required to briefly explain the
relationship between the given factors of production: (i) Land and labour
(i) Land and capital, (iii) Labour and capital, (iv) Land and
entrepreneurship and (v) Entrepreneurship and capital.

A total of 77,243 (100%) students attempted this question out of which
46,260 (59.9%) students scored from 0 to 4 marks among them 30,017
(38.9%) scored zero. Further analysis shows that, 19,773 (25.6%) students
scored from 4.5 to 9.5 marks and 11,210 (14.5%) scored from 10 to 15
marks. Figure 5 summarises this performance.

Scores
m0.0-4.0
45-95
= 10.0 - 15.0

Figure 5: Percentages of Students’ Performance in Question 5

Figure 5 shows that, students’ performance in question 5 was average since
30,983 (40.1%) students scored average or above (4.5 to 15 marks). This
shows that, the students had adequate knowledge of the factors of
production though they could not score full marks to some of the items.

A total of 30,983 students who scored from 4.5 to 15 marks (40.1%)
explained in brief how the factors of production relate to each other. These
students were aware that, a single factor of production cannot work
independently in the production process. Therefore, each factor of
production depends on the other factors in order to make production

24



effective. For example, land cannot be effective if there is no labour to
work, but labour need to be paid using cash which is part of capital. Land
also needs capital to facilitate availability of equipment, plant and other
fixed asset used in production. Likewise, land, labour and capital needs to
be organised and supervised. This shows that, the factors of production are
interdependent to one another. The students who scored average marks
were able to provide explanations which reflect the relevant relationship of
the factors of production to some of the items especially item (i) to (iii).

In item (iv) Land and entrepreneurship and (v) Entrepreneurship and
capital only a few students gave correct explanations to justify the
relationship of the terms. Those who failed to give the correct relationship
between land and entrepreneurship were not aware that, for the land to be
effective there must be organisation and coordination of the other factors
like labour and capital to facilitate production. Coordination and
organization is done under entrepreneurship by an entrepreneur. This is
also applied to capital and entrepreneurship. Capital in production includes
cash and goods/materials which need to be controlled by entrepreneur from
entrepreneurship. The students who scored high marks explained how the
factors of production given in item (i) — (v) relates to each other. Their
scores varied basing on the individual ability to explain the relationship in
each item. Extract 5.1 is a sample of correct response to question 5.
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5. Briefly explain the relationship between the following factors in relation to production:

(i)  Land and labour

............................................................................................................................................

(i)  Land and capital

Laprtat i the  wealth whith ¥ ued fo  oodue, other wedlih,

porom..__everal_ punchong on. the .. land _gudn ad onchuchng or
Jutldingg | Atke | indughries oy ewn ngragtuchued s Al mprtal

(iii) Labour and capital

Lotur.. AL the....phyarcal. or.. cnental... shrength.. ued . in_the preduchon. .
gt while..coprtal 16 . wealtnCodiek) thatare. . Wil o predvee

Sther...wealth, hence  labaur clependy on capital ; becawse labooran't
ke uhlived or wied 1f_there i no_capital evarlable- Capital con be
Mgd o oequire. Land iwhere Laboor can work on: Ao captal
(‘P?ddmbw*"“how”'u’omm’fhefﬂ{"iﬂff to_ predug, variow goals

fan  fun on qmoolrhhi and the vice versa-
M
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(iv) Land and entrepreneurship
Enbrepene hip. . the...fucter. of preduction. that aganizey other

Jadvy. of. predochin, while lond fv @ ratures it that. providas
quea... gor, Achvibes duch o coneuchion of buidingy- Thererore if
enbvepenensship I abrent no other. facty or production  wiil be
able. fo_oguniae, Sand: lnd woot ko wed for any preduckve
chwheg :Alio_ i there 1 no land, enhepreneurghip won't lead fo
oy, predochen, tecause  Land iy alo o v vital foder 1o the
Produchion... procidg ke, in the, obtaining of raw materials:

(v)  Entrepreneurship and capital

Antreprenewhip, 09, o, fader o produchon which cganisey ofher
oo op_preduchon induding caprtal , dine canitd, &5 uged o
Produce _wealth: Thererore tr an enfvepreneur  lacks capitab, the
reduchin, prowss wont  fake | place: And ako iy there t5 pilel
ithout. entrepreneurship , Mo furtter . preduchon. can te done:
Exomgle: Ir...on._entyepeneor  Lacke capltab then  he | ghe yont
e..oble to_engage  himelp..ox.... heuely...0...any. prechchve
Adivhy ke, Rling of howseheld itemes

Extract 5.1: A sample of a correct responses in question 5

Despite the average performance of students in this question, the students’
responses analysis shows that, 59.9 per cent of students scored low marks.
These students lacked knowledge of the factors of production particularly
on the relationship between the factors. Some of the students who scored
low marks explained partially some of the items especially (i) and (ii).
Some of these students understood the factors but failed to describe their
relationship to production. For example, one of the student’s response was
land is environment where people cultivate and labour are people. This
student failed to show how land and labor relate. Other students mentioned
the activities which are performed in/on the land such as lumbering, mining
and agriculture but could not explain labour as the one who perform all the
activities. Further, the analysis shows that, some students answered only
one item out of given five. For example, one of the students responded
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correctly in item (ii) land and capital as, if you want to produce maize on
land you need a tractor to cultivate the land, but could not provide any
relevant point to the rest of the item.

The students who scored zero marks had insufficient knowledge of the
factors of production. This made some students skip the question while
others copying some sentences from other question as a solution to this
question. The analysis shows that, misinterpretation of the concepts and
poor command of English language was also the reasons for the low scores
to some students in this question. For example, some students perceived the
term land factor of production as an aid to trade which is used to facilitated
trade to take place instead the gift of nature where all natural resources used
in production are obtained. Others explained land as a mode of transport
instead of a factor of production. Similarly, some of these students
interpreted capital as trade (capital is the process of buying and selling
goods and services to get profit). Entrepreneurship was misinterpreted as
industry where goods and services are produced. In addition, some students
had ideas on the relationship on the factors of production but failed to make
their sentences to present the key ideas. Extracts 5.2 is a sample of incorrect
responses from one of the students.

5. Briefly explain the relationship between the following factors in relation to production:

(i) Land and labour
AEyeaaftock el budioes agodget o areq..
and....these.....oea..ase. laad, Then . \:hc;.w orfm LQTC...
Speopie s i bl and.... U’J&lf ........ calded
Jakewes. o Lmnd.._.mncl \.«;\\Dom i arﬁ tﬁf»r DﬂlJ

(ii)  Land and capital

Json bk o et ng acad.gel....land__ang..

l:hc\{e Jondare . bu J)n5{4p A0 qu‘dngij

.......... (Q Ps\:q) Lond _and..caprbed u mm...u.&a.d...EQ{.....Qn.ﬁ..
Peog\e
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2.6

(iti) Labour and capital

..L.‘.’*:\?QH(......cmi.......jhk........?.QH.QI.\.........k.\)h.o........P.Q.QQ.\.E._....k!é..(f.@l.....ﬁ.o.r.

..........................................................................................................................................

Extract 5.2: A sample of an incorrect responses in question 5

In extract 5.2, the responses show that the student has an idea on the
relationship between the factors of productions but failed to present the
message correctly due to lack of English language proficiency.

Question: 6 Transportation

In this question students were required to explain the indicators of good
transport facilities in Tanzania.

This question was attempted by 77,243 (100%). The data analysis on
students’ performance shows that 68,840 (89.1%) students had weak
performance as their scores ranged from 0 to 5.5 marks out of which 14,466
(18.7%) students scored zero. In addition 7,927 (10.3%) students scored
from 6 to 12.5 marks and 476 (0.65%) students scored from 13 to 20 marks.
The general performance of the students in this question was weak as 89.1
per cent of the students scored below average marks.

0.6%

Scores
m00-55

6.0-125
m13.0-20.0

Figure 6: Percentages of Students’ Performance in Question 6
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Most of the students who scored below average failed to identify the
indicators for good transport facilities in Tanzania. They failed to
understand that, transport facilities are all structures necessary to support
transportation of goods and services. These include habours, airports,
railways, roads, units of carriage, loading and offloading equipment, traffic
lights and others. The indicators of good transport facilities mean an
improvement in all the facilities. These students scored low marks because
they misinterpreted the requirement and therefore provide incorrect
response like the nature of goods to be transported, value of the goods,
availability of the modes and cost of the modes which are the factors to
consider when choosing the modes of transport and not the indicators.

Some students explained road transport, water transport, air transport and
railway transport which are the modes of transport but they failed to link
on how the modes of transport can be used as indicators of good transport
facilities. The analysis of the students response further shows that, other
students explained the problems facing transportation industry in Tanzania.
For example, one of the students wrote problem of traffic jam and road
congestion, high transport cost and inaccessibility of the modes which are
the problems in transport industry. However, some students scored some
marks from the introduction part and mentioning the correct points which
had unrelated explanations. Only a few students managed to provide at
least two correct points.

The correct points to this question were mass production, availability of
varieties of commodities in the market centre at the right time,
Development of town and cities which is promoted by Construction of
tarmac roads. In addition, increase of import and export trade:
improvement of harbour, air ports, roads and railways increase the rate
foreign trade. Improvement of infrastructure such as road
construction/extension and railway construction presents indicator of good
transport facility. For example, all regions in Tanzania connected with
tarmac roads so people use short time and low cost to travel as compared to
some years back. This is also observed in some cities like Dar es Salaam
where there are flyovers, rapid buses and others. Also low rate of road
accident and low transport costs are used as indicators of good transport
facilities in Tanzania. The students who understood the demand of the
question responded it correctly on some points because all the indicators
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can easily be assessed in most parts of Tanzania. Extract 6.1 shows a
sample of students who scored low marks.

6. Explain six indicators of good transport facilities in Tanzania.

. Treensged i e Yrauster. of goods. amd sewicas.

from one pae o anelner.: \Mtaupe® Tuewe e Tue mcsa..
ovmerds... baich. o tngys. el ok Garnsag.., meled sk

goedc uimch e Sren S a \maNime
e Biatlabadihy o] vneans: 7 lu. Lamianie maed of

Extract 6.1: A sample of an incorrect responses in question 6
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In extract 6:1, the students explained the factors to consider when choosing
the modes of transport instead of the indicators of good transport facilities
in Tanzania.

Despite weak performance in this question, 8,403 (10.9%) students scored
marks which ranged from 6 to 20. Most of these students identified
correctly at least four correct indicators but gave partial explanations to
some of the points. Further, the analysis from some of the students’
responses shows that some students identified all the indicators correctly
but provided unrelated explanations to some of the points. In addition some
students managed to respond according to the demand of the question and
demonstrated essay writing skills. Some students did not score some marks
because they ignored the introduction and conclusion parts in their
responses. Extract 6.2 illustrates a sample of a relatively correct response in
question 6.

Extract 6.2

6. Explain six indicators of good transport facilities in Tanzania.
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Extract 6.2: A sample of a correct responses in question 6
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2.7

Question 7: Entrepreneurship

In this question the students were required to explain the ways an
entrepreneur can use to identify business opportunities to invest in the
market. Based on unemployment crises to many countries, this question
needed students to think about different ways they can use to identify
business opportunities to overcome the problem of unemployment.

This question was attempted by 77,243 (100%) students. Data analysis
shows that 74,126 (37.5%) students scored from 0 to 5.5 marks of which
50,557 (65.5%) students scored zero mark. Moreover, 3,028 (3.9%)
students scored from 6 to 12.5 marks and 89 (0.1%) scored from 13 to 20
marks. This performance is summarised in Figure 7.

0.1%

3.9%

Scores
m00-55

6.0-125

13.0-20.0

Figure 7: Percentages of Students’ Performance in Question 7

Figure 7 indicates that, the general performance on this question was poor
as 74,126 (96%) students performed below average. This explains that the
students had inadequate knowledge of business opportunity. Further, the
analysis revealed that a few students, 4 per cent scored from average marks
and above.

The analysis shows that 74,126 (96%) students who performed poorly due
to some factors like insufficient knowledge of entrepreneurship especially
on self-employment, misconception of the requirement of the question and
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poor essay writing skill. The students (65.5%) who scored zero marks could
not provide any correct point because some of them had poor understanding
of the requirements of the question. For example, some students explained
the qualities/characteristics of entrepreneur. In addition, others explained
the importance of entrepreneurship and the functions of entrepreneur. The
responses from one of the students’ was: in order to identify business
opportunity the entrepreneur should work hard to know, entrepreneur
should set goals on where to get the opportunity, should find capital which
will help him to get opportunity, to organise how to get information and
should be honest to customers. The response contained some functions and
quality of an entrepreneur.

In addition, the analysis shows that, some students explained the problem
that entrepreneurs are facing in their day to day activities. For example, one
of the students wrote insufficient amount of capital, inadequate knowledge
of business, poor transport, competition, and interest on loan, insecurity of
the business and poor management of business. Other students also
explained about different business activities that an entrepreneur can
engage instead of how to identify business opportunity. Their responses
were: agriculture, selling of soft drinks, opening butcher, milk centre,
singing, teaching, and transport services. The students failed to understand
the requirement of the question.

On the contrary, some students who scored low marks but above zero
marks were able to mention some ways but could not provide relevant
explanation. For example, most of them mentioned the point of market
research and problems in the society which were correct but failed to link
their explanation with identification of business opportunity. They were
supposed to know that, entrepreneur can identify business opportunity
through creativity and innovation by being able to develop new business
ideas and find the way forward to solve some problems. Again, through the
use of available resources, learning from successful entrepreneurs, market
research or customer survey, and taking care of some government policy
entrepreneur can identify an opportunity to invest. The students also have
to think about talents/interest and hobbies an entrepreneur has, can be he
way to identify the opportunities. Extract 7.1 is a sample of incorrect
responses.
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. How does an entrepreneur identify business opportunity to invest in the market? Explain by
giving six ways,
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Extract 7.1: A sample of an incorrect responses in question 7

The analysis of the students’ responses shows that, 3,117 (4%) students
scored from 6 to 19 marks. Majority of them had average performance.
They were able to explain at least three correct points though their
explanation given by individual students differs in terms of correctness.
The students who scored high marks (13 to 19) showed their understanding
of the subject matter assessed. Most of them managed to identify all correct
indicators but the variation of scores was due to ability to clarify the
mentioned correct points, Extract 7.2 is a sample of correct responses in
question 7.

37



7. How does an entrepreneur identify business opportunity to invest in the market? Explain by

giving six ways.
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Extract 7.1: A sample of a correct responses in question 7

PERFORMANCE OF STUDENTS IN EACH TOPIC

The general performance of the students in Commerce subject in the
FTNA, 2021 was average since 46.39 per cent of the students passed. A
total of 7 topics were assessed in Commerce paper. The topics were:
Commerce Basics, Production, Entrepreneurship, Domestic Trade,
Warehousing Management, Economics Basics and Transportation.

The analysis of students’ performance in each topic shows that, the topics
of Commerce Basics, Production, Entrepreneurship, Domestic Trade,
Warehousing Management, Economics Basics from which multiple Choice
items, True or False and completion items were constructed had good
performance of 73.8 per cent. The good performance had been attributed to
the students’ ability in understanding the assessed concepts together with
proper understanding of the demands of the question.

The topics of Domestic Trade (55.6%) and Production (40.1%) had
average performance. This performance reflects the students’ ability to
analyse the types of retailer and the factors of production.
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4.0

4.1

4.2

The topics with weak performance include: Warehouse Management,
Domestic trade, Economics Basics and Entrepreneurship (16.8%) from
which a short answer question was composed. Furthermore, the
performance in the topics of Transportation (10.8%) and Entrepreneurship
(4%) assessed on essay question had weak performance. Weak
performance in these topics was due to students’ inadequate knowledge of
the assessed concepts, misinterpretation of the requirement of the questions
or items and lack of English language proficiency. The performance per
topics is summarised in appendix.

However, further analysis shows that, there is an improvement of 20.7 per
cent in Domestic Trade topic which had average performance of 55.6 per
cent in 2021 compared to 34.9 per cent in 2020. The performance in the
Entrepreneurship topic in 2021 was 4 percent compared to 9.2 per cent of
2020. Therefore, there is a decrease 5.2 per cent.

CONCLUSION AND RECOMMENDATIONS

Conclusion

The general performance of the students in the Commerce subject was
average as 46.39 per cent of the students passed. This performance was due
to students’ inadequate knowledge and skills of some of the concepts,
misinterpretation of the question or concepts, and lack of English language
proficiency. Despite average performance, some students performed well in
this subject. These students had sufficient knowledge of the assessed topics,
better understanding of the requirement of the questions and good mastery
of English language.

Recommendations

In order to improve students’ performance in Commerce subject the
following advice should be taken into consideration:

(@) Teachers should use their surrounding environment to facilitate
students in understanding the ways to identify business
opportunities. For example, using the challenges that arise in their
community and the resources available teachers should guide
students to identify business opportunities. They should also use
different business advertisement from different advertising media
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(b)

(©)

and guide students to identify business opportunities from those
advertisements.

Teachers should involve students in drawing of pictures of the
modes of transport found in their surrounding and the units of
carriage in the areas. Teachers should use recent pictures of the
ways, unit of carriage, terminals and the loading and offloading
equipment available in Tanzania to let the students to identify the
indicators of good performance of transport facilities in Tanzania.

Teacher should also use presentation method in teaching some of the
topics. This will encourage each individual student to work in order
to be able to present before others. It will also help to facilitate the
students in improving in English language not only that but also
engaging in debate prepared by teachers or students so as to be
competent in the use of English language.
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Appendix 1

Summary of Students’ Performance per Topic

Percentage of
Question Students who
SIN Topic Scored an Remarks
Number
Average of
30% or Above

3. Domestic Trade 2 55.6 Average

4 Production 5 40.1 Average
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